Exam Date :
Exam Time :

Note:

ALL INDIA TRADE TEST - 2024 FOR CRAFSTMEN
TRAINING SCHEME (CTYS)
Trade Name: Electrician
Year: 1st Year

1. Tick the correct option out of four alternatives provided
2. All questions carry equal marks (2 Marks each)

3. There is no negative marking

Max Marks : 150

Question Body and Alternatives

Trade Theory

1 Which test is conducted to locate the faults in U.G. cables?

U.G. haell § GRT€! &7 Udl oM & e s a1 uiaror fan sirar 82

,Al Loop test

qU e

4A2 External growler test

IR MR e

A3

7 Break down voltage test

T T3 dlees o

A4 Insulation resistance test

AR UfeRlY %

Fr T@dc? Theory

2 What does the number 1.40 represent if a stranded condueforiis designated as 7/1.40?

TS Th WSS hSdex Dl 7/1.40 P =0 | A Tebam 70, ot TReAT 1.40 T S icll 82

Al .
. Area of cross section

ST PTC BT BT

A2 Radius of one conductot:

TP Hadex &I Aol

A3

. Diameter of'all eonductor

Tt HEaeRdm AN

‘A4 Diameter of each conductor

YA® HSdex BT AN

Trade Theory

3 What is the size of the neutral core of a 90 sq mm 3, core U.G cable?

90 I et 3, , R U.G. HI &S g HR FT 3MHR FT 82

A

! 45 Sq mm
45 Sq mm
.A2 50 Sq mm

50 Sq mm
A

3 70 Sq mm
70 Sq mm
A% 90 5q mm

90 Sq mm

2.0

2.0

Negative
Marks

0.00




What is the name of the tool as shown in the figure?

o & foRaTy 7T SUHRU BT A M R?

él Cutting plier
BT TR

{\2 Wire stripper
R fgm

:A3 Crimping tool
fopfRiT et

fx4 Side cutting plier

TIES BT AR

Trade Theory

Trade Theory

Which type of joint is used in over head lines for high tensile strength?

I 90 Qi & AT 3R B'S gl & {8 UDR & Sils 1 Suai foha S 82

:Al Scarfed joint
WIHS 3T

:A2 Married joint
s W<

:A3 Western union joint
I gfge s

A4

~ " Rat-tail joint

Ye AT

What is the unit for Quantity of electricity:2

g &) o # 3BT F 2

{\l Mho

Mho

:AZ Coulomb
Coulomb

:A3 Volt /second

Volt/ second

{%4 Ampere / second

Ampere / second

Trade Theory

Trade Theory

What is the name of the soldering method as shown in the figure?

[EEE CRIERIFRISIURC R ek s

e

2.0

2.0

2.0

2.0

0.00




él Dip soldering
SRSl

:A2 Soldering iron
TSI SR

:A3 Soldering gun
RISIRIKIE]

4 Soldering with flame

AW & Y Ao

Trade Theory

What is the name of the soldering method as shown in the figure?

o & s 7 S A T am s g2

! Dip soldering

feu dresfn
.AZ Soldering with blow lamp

) oY P Ty AT
‘A3 Soldering with soldering gun

ST T &b 1Y s R
A4 .
" Temperature controlled soldering

GIEBIENERIECRSISIR)

Trade Theory

How many electrons are there in the third shell of the copper atom?

TS P TR F R P H foha seae 82

Alg

8

29

Trade Theory
What is the formula for the Quantity of electricity (Q)?

faqgd &1 7R (Q) FTF H1S?

A

! Current x Time

Current x Time

.A2 Voltage x Current

Voltage x Current

A .
i 3 Current x Resistance

Current x Resistance
A4

. Voltage x Resistance

Voltage x Resistance




Trade Theory

Which formula is used to calculate the power of a DC circuit?

DC fehe Bt e B1 70T B B o b T T ST fobam e 22

Al Voltage x time

Voltage x time
:A2 Current x voltage
Current x voltage
:A3 Current x resistance
Current x resistance
A4

- Voltage x resistance

Voltage x resistance
Trade Theory

What is the advantage of the stranded conductor over the solid conductor?

B ITee B gaT B dg AIee B T A 87
! Cost is less
AT B 3
{\2 More flexible
CIBEASEIR|
fu Less voltage drop
HH dlees giu
é4 More insulation resistance

Y SIRA UfeRTY

=

Trade

—

heo;

What is the advantage of the crimping terminations?

fepfRiT iR o1 ey 82

AI Increase the voltage

dlees Je

‘AZ Reduce the load current

IS PC HH B

A3 . .
-7 Avoid loose connections

[RERCNER e

{%4 Easy to replace
Fead ST
Y Trade Theory

Which part of the underground cable is protecting the metallic sheath against corrosion?

YT cherel SbT oI T HITT YT SMTaRUT &1 ST & STl 82

:Al Serving
Ffdr

2 Bedding
afEw

53 Armouring

Kliesica)

.A4 Lead sheath

ERES

Al

Trade Theory
What is the use of dipsoldering method?

2.0

2.0

2.0

2.0

0.00




fEuiesi fafty &1 Wi s 82

{M Hard soldering

GERISH
.AZ Piping and cable soldering work

UTSfRT SR Hadt HesT BT BT
‘A3 Soldering miniature components on PCB
PCB IR BI¢-BIC ] BT Hies AT

.A4 Soldering of tin sheets

fe1 2 &t A
Trade Theory

Which is the semiconductor material?

e Uerd &9 I 2

! Eureka

kel

2 Ebonite

e

.A3 Manganin

A
.A4 Germanium

SHfgH

Al

Trade Theory A N

What is the reading of the micrometer as shown in the figure?

fort 7 2wifT SgUR ATEHIHIeR BT Ureaics o 32

01234

LS

Al 5.05 mm
5.05 mm
A

2 5.00 mm

5.000mm

,A3 455 mm
4.55 mm
54 4.05 mm

4.05 mm
Trade Theory

Which is used to measure the size of the conductor?

HEFeR B HR A & g forgest ST fobar ST 82

Al Bevel gauge
ECGEIT

4A2 Vernier caliper

CIEDIEANEN

A?’ Standard wire gauge




20

21

22

20

21

22

WSS TR AT
{%4 Depth gauge

TERTS el
Trade Theory

What is the purpose of ‘serving’ layer in underground cable?

YfATd Faet B I IRa &1 ST 89

Al Protect the cable from mechanical vibration
P B! i HUH Y T

A2 T

7 Protect the cable from mechanical injury

Pad ! TP &ffd I T2

{B Protect metallic sheath against corrosion
YT P 3MTARYT I ST Y FATY
A4 . . ..
. Protect armouring from atmospheric condition

SR ) argHE ey fRufa J s=mT

Trade Theory

Which type of joint is used for extending the length of conductor in over head lines?

3R TS BT H HSder B! aS S¢M & 18 fb g ThR & SIS BT ITTNT ohar ST 82

él Scarfed joint
WS ige

:A2 Aerial tap joint
e e siige

:A3 Britannia “T” joint
fsrerfan T Siige

{%4 Western Union joint

¥ g Siige

___ " Trade Theory

What is the effect on molten solder due to repeated melting?

ot §U Hitek ) gR-SR fger 9 38 W R THE TSl 82

‘Al Tin content reduced

fo1 1 W B g1 S &

.A2 Lead content réduced

TS B AT HH IS §

53 Prevent slug, formation

T S Y Al &
.A4 Even solder flowing in joints
SISt § HieeR &1 9 UdTg
Trade Theory

Which type of soldering method is used for servicing and repairing of electronics items?

AT I3 BT ARAT 3R TRATA & R 5w YR 1 Ties i fafdy o1 Sun faman wman g2

! Dip soldering
f&u dresiin
:AZ Soldering with a flame
TiH & 1Y HieeshaT
fu Soldering with soldering gun

TR T & Iy Fresh

2.0

2.0

2.0

0.00

0.00




A4 Machine soldering

A s
Trade Theory

Which method of soldering is used for repairing the vehicle body? 2.0

qTe B Siel B AR P o D 31 fog It o1 Iuan far Sar g2

Al Dip soldering
SRR

52 Soldering with flame

ST & 1Y e
{%3 Soldering with soldering iron

HIes AT SERT & 91y Fies T

.A4 Machine soldering

AR e R

Trade Theory

What is the disadvantage of solid conductor compared to stranded conductor? 2.0

TS Heae B gorl § 31 Heaer &I JHaH 182

Al Less rigidity

HH HERAT

{%2 Less flexibility

ELREINIE]

.A3 Low melting point

ERIREICD

{%4 Low mechanical strength

CRRIIEEZES]

n Trade Theory

Why the soldering iron must be kept into a standdhatmotin"use while soldering?

TIesT 3MRT B U8 TS R 1 3T ST o8, S aTes R HRd JHT UG H - 87

2.0

! It prevents burns and fire
T ST SR ST T W SGIT §
A

i 2 To control the excessive heat
Sfafa &5 &/ T 34 8

A3 ) .

.~ To saverthe timewof soldering process

TSI BT 99 S 7

.A4 To avoid dry soldering

T S 5 g

Trade Theory

What is the cause for cold solder defect in soldering? 2.0

TieefiT § Pics TeeR Sy 1 &1 HRUI 82

1 . .
Excessive heating

3rafie g

.AZ Insufficient heating

e amg

,A3 Incorrect usage of flux

TRTSRT T It SUTRT

.A4 High wattage soldering iron




I dIC &l a1 JIes T SR

Trade Theory
What is the value of current (I) flowing through the circuit?
aRuy & yaifed 4RT (1) T A 31 82
[ 1
L
R=60 1
+
12y — A
Al 6A
6A
A2 3A
3A
,A3 2A
2A
4A4 1A
1A

Trade Theory

What is the purpose of additional covering over the insulation of insulated conductor?

SIS Seacy & YA IR 3ifIRed 3MaRUl 1 L2 1 82

Al . . .
- To increase dielectric strength

R Yo SgM & fog

52 To reduce the conductor resistance

PHEaeR UfaRIY B HH HRA & e
Al

R 3 To reduce the power loss

foreft &1 g1 Y 1 B & g

{%4 To increase the voltage drop

IS ST P wGT & forg

Trade Theory

Which type of cabljes ar; usezi for underground services from 33 kv to 66 kv?

33 kv § 66 ky 0 Bl UERTT Yarail & forg fba UbR & e &1 IuanT b wirdr 22

Al High tension cables

HEEREEER]
:A2 Extra super voltage cables
SR g diees dad
:A3 Super tension cables
IR T et

{%4 Extra- high tension cables

SffaReR-gTs ST Ppaet
Trade Theory

Which is the property of a good conductor?
TS 37 FTeieb b 10T I 182

1 . .
Low specific resistance

%4 fafkiy ufeRry




31

32

33

34

31

32

33

34

{\2 High dielectric strength

i R RCEE CRIIES]

.A3 High specific resistance

I oty ufeRly

{%4 Low mechanical strength

Y gitye e
Trade Theory

Which material is used as conductors for wiring?

IR fo heaex & T H fobg It &1 Iy fovan Sirr 82

A

! Mild steel

R $id

.A2 Copper

19

DI
‘A3 Silver
Rrear

.A4 Galvanized iron

Sefiepd et

Trade Theory
Which layer is provided above the metallic sheath in UG cable?

UG 90 7 UTfad SR $ FWR B W TR T B Sl 82

.Al Armouring

K licy
:AZ Bedding

CISl
:A3 Serving

afdr

.A4 Paper insulation

IR SgAH

& Trade Theory
What is the formula to find the Electro Motive Force (EMF)?

TS HIfed IR (BMIF) F.33 &1 I 1 87

{%1 EMF =Potentialdifference — voltage drop
EME =Potential difference — voltage drop

{\2 EME = Potential difference + voltage drop

EMF = Potential difference + voltage drop

A?’ EMEF = Potential difference + voltage drop/2

EMF = Potential difference + voltage drop/2

{%4 EMF = Potential difference + 2 x voltage drop

EMF = Potential difference + 2 x voltage drop
Trade Theory

Which law states that the applied voltage in a closed circuit, is equal to the sum of the voltage drops?

F 1 39 94T § % U g Aithe # AR dled, dlees 10 & AT & RIS 82

A

! Ohm’s law

e &1 g

.AZ Laws of resistance

2.0

2.0

2.0

2.0

0.00




35

36

37

35

36

37

ufeRiy & fFom

{B Kirchhoff’s first law
febRte o1 ugan faw
{%4 Kirchhoff’s second law
febei o1 gavr fgw
Trade Theory
What is the formula for the equivalent resistance (R) of the three resistors R, Ry & R are connected in parallel? 2.0
AR & T dF URRIYST R, R, 3R Ry F THIeA URY (Ry) BT G 187
AL Rp=R; +Ry + Ry
Ry=R; +Ry +R3
A2
1 1 1
Rizdfo b f 5
N
R, Ra R, )
A3
1
R
T
Rl
A4
R, =
E R. R
Trade Theory A\
What is the reading of the ohmmeter connected across the opened ‘R,’ resistor as’shown i the circuit? 2.0
fthe B 3T o UR Ga Ry’ URIUS ¥ I iR &1 ulediss g2
Ty
I R
OPEN —.-.-r—lng
REMBTOR LJ
=
| S|
Ry
,Al Indicate zero reading
.A2 Indicate infinite'resistance
S TfeRIe &=
53 Differenceyin the value of the resistance of R| and R3 only
FHIAR, 3R Ry & URRIY & T H 3R
.A4 Sum of the resistance of R; and R3 only
Fad R, 3R R, & TRy H1 0T
Trade Theory
2.0

What is the name of the resistor as shown in the figure?

o & qwiiu U ufeRiee o A1 T 22

o

.Al Metal film resistor

1 fored feRiy

.AZ Wire wound resistor




38

39

40

41

38

39

40

41

IR 1SS UfeRiy
A

3 Carbon — film resistor

Pra fthed TfaRiy

A4 . .
-~ Carbon composition resistor

PTa I URRIYS
Trade Theory

Which material is having the negative temperature co-efficient property? 2.0

o uerdf o FeEd qTTAT 0T 07 SieT 82

Al Mica

HYD

{%2 Eureka

gl

.A3 Copper I
GICl

‘A4 Manganin

ERlIEE]

Workshop Calculation and Science

Convert 0.456 decimal fraction into percentage? 2.0

0.456 TG T B wfa=rd & Feferd?

A

1 45.6%

45.6%

A2 4 56%

4.56%
A3 456%
0.456%

A% 0.0456%

0.0456%

Workshop Calculation and Science
What is the square of 0.01? 2.0
0.01 FTIT FTF?

Al 0,001

0.001
A2 0.0001

0.0001

A3 00001

0.00001

54 0.000001

0.000001

Workshop Calculation and Science

Which metal contains iron as a major content? 2.0

T I fore u1g & vge Wl & U § AR gl 22

Al Brass metal

draa erg

{\2 Bronze metal

it 41g

‘A3 Zinc

0.00




42

43

44

45

42

43

44

45

B2
{%4 Ferrous metal

g urg

Workshop Calculation and Science

What is termed as the quantity of matter contained in a body? 2.0

g B g uerd &Y A &) . weT ST 89

A ! Density

YIcd

52 Volume

SId

‘A3 Mass

SYHT
{%4 Specific gravity il

fafke Toa

Workshop Calculation and Science

What is called mass per unit volume of a substances? 2.0

forft Teref & gorAT Ul 3T ST &l T FEd 82

AI Mass

Estin)

A2 Weight

HR
53 Density

YTd

{%4 Volume

STIdA

____ Wor_i<s};p Calculation and Science

What is the S.I unit of heat? 2.0

ST ) T, TS, SHTS T 37

A

! Calorie

Calorie

.A2 Joule

Joule
4AS Centigradesheat unit

Centigrade heat unit
A4

. British thermal unit

British thermal unit
Engineering Drawing
Identify the conventional symbol of material? 2.0

Lw->

et & URURD Udiieh 1 Ugar?

EDNG1811003

0.00




46

47

48

46

47

48

{M Lead

s

:A2 Steel
3

:A3 Glass
P

,A4 Porcelain

= e

Identify the conventional symbol of material?

lra->

et & URUR Udileh 1 Ugar?

Engineering Drawing
2.0

A A A 4
Z # &

EDNG 1811004

él Concrete
ia prdeH
:AZ Steel
Td
:A3 ‘Wood
eS|
:A4 Glass
B
Identify the conventional symbol of material?

lram->

Il & URUR® Udie & uga?

Engineering Drawing
2.0

EDNG16811005

,Al Steel

Rl

:AZ Wood
K

4AS Glass

i

A4 Concrete

39

What is the trimmed size of A4 sheet?

A4 Xfie &1 fem oo gon SR Fm 82

Engineering Drawing
2.0

0.00




.Al 841 x 1189

841 x 1189
A2 504 x 841
594 x 841
A3 510x297
210x 297
A% 148x210

148 x 210

49 49 Which drawing dimension is correct as per IS standard?

IS TS & SR S I1 T AT el 82

Al

o>

A2

o>

A3

o>

A4

o>

50 50 Identify the name of prism?

lra->

o o fezam U forss 1 A B2

Engineering Drawing

Engineering Drawing

2.0

2.0




51

52

53

51

52

53

EDNGH 812005

! Square prism
IR oA
4A2 Pentagonal prism
Taeiia fiem
.~ Triangular prism

Ecauiehies)

A4 Hexagonal prism

BRI foe|

Fill in the blank with correct word. “They

Raa & w8t 2eg W “They good friends”

Al .

A2

am

am

A3
o are

are

Ad
T was

was

Fill in the blank with present progressi;e fense of the verb. “The train

fopar & g TTfoeiia Se e 1y Rad RIM X1 “The train

Al passed
passed
A2 . .
.7 is passing
is'passing
53 had passed
had passed
A4 .
" was passing

was passing

Fill in the blank with proper interrogative adjective.

I EeRmifea faRmor & Ty e =M |

.Al Who
Who

Al

2 Where

Where

Employability Skills
good friends”

Employability Skills
through the tunnel”
through the tunnel”

Employability Skills

are you going?

are you going?

2.0

2.0

2.0

0.00

0.00




A3

A4

Which

Which

- What

What

Fill in the blank with proper pronoun. “I made this cake

o = & Iy Td™E & 1Y HR 1“1 made this cake

Al

A2

A3

A4

Fill in the blank with proper pronoun. “She made this cake

o = o Iy TdH & 1Y 431 “She made this cake

Al

myself
myself
yourself
yourself
himself
himself
itself

itself

itself

itself

2 myself

A3

myself
herself

herself

4 himself

Fill in the blank with proper reflexive pronoun. “She has hurt

himself

Employability Skills

2

Employability Skills

”»

Employability Skills

”»

aa = o Ifud wfaadt wd=m &0 Y 1““She has hurt »

! myself

myself

2 herself

A3

A4

Fill in the blank with suitable adjective for the given sentence “The little girl’s

fau T aTe & e Suge faLivor & 1y e QUM WX “The little girl’s

Al

A2

A3

herself
himself
himself
itself

itself

chubby
chubby
weak

weak

short sighted

short sighted

Employability Skills

eyes revealed her mischief”

eyes revealed her mischief”




A4 twinkling
twinkling
Employability Skills

Fill in the blank with suitable place preposition. “My house is the third floor” 2.0

IO R Gaert & A1y e I W | “My house is the third floor”

{M at

at

A2 .

A3

~ 7 on

on

A4 under

under |
Employability Skills

Fill in the correct question word. * is the speaker at the function?” 2.0

T Uy Teq W | « is the speaker at the function?”

A

! What
What
:A2 When
When
53 Why
Why

4A4 Who

Who
__:E?mplgyaiility Skills

Low level language is also called . 2.0

IECESEEIRY Lkal aff g1 ST

1
source code

RIGEaE

52 middle ware

HER]

A3 .
.~ machine language

HRI HIST
4
assembly language
S 1Ty
Employability Skills

Pronunciation refers to . 2.0
J=ER I Talfd Farg
Al diphthong
Hgad TR
2
consonant
EIEE
3 .
punctuation
[CREICES
4 production of sound

g BT Iare




Employability Skills

Re-arrange the following set of words into meaningful sentence. “teacher / school / worked / she / a / as”.

el & Fafefad Se & arde areg o fh @ Safyd B3| “teacher / school / worked / she / a / as”

Al School worked as a she teacher

School worked as a she teacher

‘AZ She worked as a school teacher
She worked as a school teacher

A3

-~ She teacher worked as a school
She teacher worked as a school

A4

- Worked she as a school teacher

Worked she as a school teacher

Rise and fall of pitch of voice is called

SfTaTS Bt forg T I3 SR R ﬂ?ﬂ?ﬂ%

! vowel

W]
2 intonation
HTAS PT IdR-deld
3
consonant
EIEE
4 L
pronunciation

SR

The word that expresses a sudden and strong feeling is called

I8 Teg Sl 3D 3R HoTSe HIGHT e el & 3

! punctuation
o ferg

2 interjection
ferafeays

3 . .
conjunction
IS & FY

4 apostrophe

Employability Skills

EmployabilitSkills

ﬁm%

Employability Skills

When you greet higher official’s such as Teacher, Instructor or Supervisor, you should use

T 7 e, afRrese a1 TRerd 8 I SRR BT AR 3 . 3 e ST T ART

A

! Good morning

Good morning

Al

2 Hello
Hello

53 Hey

Hey

é4 Hi

Hi

Which is a silent letter in the word “ANSWER”?

“ANSWER” ¥ec H 19 91 b 31&R 87

Employability Skills




67

68

69

70

67

68

69

70

Al
A2
A3
A4

Employability Skills

Which one is a “Do’s” of discussion etiquettes? 2.0

T4 & RITERI # § $H I “Do’s” &2

:Al Loose your temper
S{TT AT Y

:AZ Listen to others
R BT

53 Talk about irrelevant details

ST faR0T & IR # &1 B
A4 Use impolite or rude language

3HE TT HTRAY U BT ITGIT B

Employability Skills "

Which one is a “Don’t” of discussion etiquette? 2.0

i fRIPER BT “Don’t” 82

.Al Be open minded

¢an RENIRSCE]|
52 Use moderate tone

T TR BT YR B

A?’ Listen to others

g
A4
. Argue unnecessary

SIS TEH DY
X Employability Skills

Which one i§#brain ofzomputer? 2.0
SR PIARTD I 187
Al Keyboard
GiEic]
CPU

dqidig

A2

{B Monitor
e
4 Hard disk

HESED

A

Employability Skills

Which one is an exclamatory sentence? 2.0

oI a1 fwmaiesiys a g2

A

! What a beautiful house it is!




71

72

73

74

71

72

73

74

What a beautiful house it is!

‘AZ It is a beautiful house.

It is a beautiful house.

,A3 Is it a beautiful house?

Is it a beautiful house?

A4 Your house is beautiful.

Your house is beautiful.

Which one is in active voice?

fpy 3rare § B 182

A

! Ram has passed the exam.

Ram has passed the exam.

.AZ The ball was caught by him.

The ball was caught by him.
A

i 3 The book was being read by her.
The book was being read by her.

54 We were driven home by dad.

‘We were driven home by dad.

Which one is in passive voice?

ffepg e A p T

Al Mohan is painting a house.

Mohan is painting a house.

Al

2 She was reading a book.

She was reading a book.

.A3 Her birthday was celebrated by us.

Her birthday was celebrated by us.
.A4 I have seen that movie.

I have seen that movie.

Which one is NOT a conjunction?

B 91 T o el 82

.Al And

And
52 Or
Or
:A3 But
But
.A4 On

On

Which one is NOT a benefit of the role playing?

YfPeBT AU &1 B a1 Ay el 82

,Al Builds confidence

ST VT HRaT &
{%2 Develops listening skill

G BT DI [IB R Hxar 8

Employability Skills

Employability Skills

Employability Skills

Employability Skills

2.0

2.0

2.0

2.0




{\3 Develops creative problem-solving skill
THFTHS TH-GHIY HId eI HRdT &

{\4 Develops boredom

Td I RaAT 8

Employability Skills

75

75

Which one is NOT a vowel?
PH AT TR AL R

Al

T a

A2

A3

A4

2.0

0.00




Electrician - 1st Year - Set 2

S.No. Correct Answer Key S.No. Correct Answer Key
1 A1 39 A1
2 A4 40 A2
3 A2 41 A4
4 A3 42 A3
5 A3 43 A3
6 A2 44 A2
7 A3 45 A2
8 A4 46 A4
9 A3 47 A4
10 A1 48 A3
11 A2 49 Al
12 A2 50 A4
13 A3 51 A3
14 A2 52 A2
15 A3 53 A2
16 A4 54 A1
17 A3 55 A3
18 A3 56 A2
19 A4 o7 4 A4

20 A4 58 A3
21 A1 59 A4
22 A3 60 A3
23 A2 61 A4
24 A2 62 A2
25 A1 63 A2
26 A2 64 A2
27 A3 65 A1
28 A1 66 A4
29 A4 67 A2
30 A1 68 A4
31 A2 69 A2
32 A2 70 A1
33 A2 71 A1
34 A4 72 A3
35 A2 73 A4
36 A2 74 A4
37 A2 75 A3
38 A1

Note:

"In case answers found to be inaccurate due to typographical error or any
other reason please sent mail to gbnimigrievance@gmail.com"
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